
1.5x7.8mm Pin
ALL M3x8 mm

M3x8 mm

M3x8mm FH

Motor mount

Front bulkhead L

Front bulkhead R

8x10mm Shim

Main shaft adapter

Spur gear mount

Spur gear 85T

Spur gear plate

8x12mm Bearing

20T Bevel gear

4x8xmm Bearing

24T Motor gear

Main shaft

M3x3mm Set screw M3x8mm Botton screw

M3.2x6.5mm Shim

BAG

E

BAG

F

--X 10

--X 1

--X 1

--X 1

--X 1

--X 1

--X 1

--X 1

--X 1

--X 1

--X 1

--X 1 --X 1

--X 1 --X 1

--X4

--X4
--X 2

M3.2x6.5 mm Shim

M3x3 mm 

4x8 mm Bearing

1.5x7.8 mm Pin

8x10 mm Shim

8x12 mm Bearing

M3x3 mm 

P.3


